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“You are so strange!”

Another use of kakomn

2 conjugation: V+V truncation and
consonant mutation

The Infinitive

- Forming the Infinitive

- Uses

Jnanor
Kakas Tbl cTpaHHas! You are so strange!
Jléna: 1 | Kako# o1 tennBolii! ThI Bech JeHL CHAMIIL U You are so lazy! You sit and watch TV all day.
2 | cMOTPHIIb TEIEBH30P.
éTa: 3 |Hy uuro? Cuxy, cMOTpIo TeneBi30p. S mwbax0 | So what? I'm sitting and watching TV. I like to
4 | cuAETh U CMOTPETH TENEBU30P. A UTO HAIO sit and watch TV. So what should (1) do?
5 | ménatn?
Jléna: 6 | S He 3HA10. 3aHUMATBLCH, PabOTATE, UHTAT, Idon't know. (You ought to) study, work, read,
7 | roréoBuThL 00661, cook (prepare) dinner.
IléTsa: 8 | Ho THI 3HAEMID, UTO I OYeHb IIOXO TOTOBIIO. A ThI | But you know that I can’t cook (= I cook very
9 |dro mémaenin? poorly). And what are you doing?
Jléna: 10 [ A? A raaxy oproku. S 64eHb TIO0IIO TIAIUTh Me? I'm ironing (my) pants. I really like to
11 | Oproku. iron pants.
IléTsa: 12 | Ha, 1 BlKy. Kakas TeI cTpanHas! Yes, I see (that). You are so strange!
CaoBapsb

1 | JICHHBBIH

lazy

1 BECh ICHDb

all day (Learn this as a fixed phrase for now.)

1 | cumé+ sit; be in a sitting position (as opposed to sitting down)
3 | mrobn+ like; love
4 |HAmO (one; you) has to,; ought to; must

6 |3aHMMAai+...

ca study (We’ll discuss the ...ca later on.) This verb means spend time sgudying,
(reading, doing homework, etc.) and never takes a direct object like yuau+ does

7 | roroBH+

prepare; make; cook

7 | 00én dinner

8 | HO but, however

10 | TIAH+ iron

10 | Oproku pants (always plural)
12 | Buge+ see

12 | cTpAHHEII strange
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19- ypok

FpammaTuka

19.A  Another Use of Kakon

Kakom Tbl NeHnBbIN (1); Kakast Tbl cTpaHHas! (12)

In addition to the uses illustrated in Lesson 15 (list these, or have a review of all meanings), kakéii is used to

constuctions such as You are so [adjective]! He is such a [Noun}! The structure is shown below. Note that both

Kkakoii and the adjective agree in gender and number with the PERSON (the subject). If you add another noun
after the adjective, kakéii and the adjective will agree with the NOUN. (Lit: How kind he is — the difference
between this and Takoii)

KAKOM + PERSON + ADJECTIVE (& NOUN)
Kakon OH JOOpHIit! He is so kind!
| T |
agreement with person
Kaxas Manra cTpanHas! Masha is so strange!
| i |
agreement with person
Kaxne OTH%I JICHUBEIC! They are so lazy!
agreement with person
Kaxoit Onbra OTJINUHBIH BPaII! Olga is such an excellent doctor!
| )
agreement with noun

@ Make comments about people according to the prompt:

Example: Boaoas (kind) O

1. 781 (F) (kind)

4. BHI (attractive)

7. s (kind person)

summary of kakoit

Kaxoun Bonoos 066pouit!

2. oH (old)

5. Huna (smart: yMHBII)

8. oH (bad student)

onn (lazy)

6. I'¢ma (excellent student

CTYACHT)

9. wmI (good students)




Grammar Lesson 19

Some consonants in a verb stem cannot take the shock of seeing their vowel neighbor to the right
unceremoniously lopped off by the vowel from the ending. Being paired up with the 1™ person ending -{U} just
adds insult to injury and the stem consonant MUTATES into another consonant.

1. Add the s-form Present Tense ending -{U} to
the verb stem. (Because of the ¥+ V
combination that results, vowel truncation
occurs as expected):

Hey, stem vowel, otBkrce! You're
no longer needed. I’m the head
vowel in charge now!

Buagt+ {U}

2. The consonant that is now at the end
of the stem undergoes mutation:

Oh, the agony! E and I were so
close. Ican’t take this. I'm
mutating. What a world! Ahhhhh!!!

Bua+ {U}

Bkt {U} = BHKy

This mutation occurs only in the a-form. When any other ending is added, no such mutation occurs:

Yo, stem
vowel,
scram!

I
Buagt+ {I}ms /{A}T

Hey {I}, {A}, you’re not so
bad. I think I’ll stick around.

Bua+ {l}me /{A}T -> BUAMIIb, BUIAT

English also has consonant mutation, but we don’t normally represent it in spelling. If you say ‘did you” at
normal conversational speed, most likely it comes out ‘didja,” where [d] mutates to [j]. The same sort of thing
happens with ‘got you!,” which can even be spelled ‘gotcha!’ ([t] mutates to [ch]). English also has [d] = [zh]
mutation in pairs like decide —> decision, collide = collision, etc.
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19- ypok FpammaTuka

Here are the mutations we’ve seen so far:

MUTATION 2nd c0njE.:,)i"tle\:gle)llllt]E 1.sg only Remljigill\l/fgugli:glcl)tN]:ense
Bang+{U} -  BHXKY BHIHUIIP ... BAOAT
o> XK cumg+{U} 2>  CIKY CHIUIIb ... CHAAT
rmag+{U} >  TIaxy TIAAUIID ... TIAIAT

For consonants that are formed with the lips (known as the Labials), instead of changing into a different
consonant, an a° is added before the s-form ending is attached. So far we’re seen the following stems with labial
mutations:

0> On moG+{U} > mobmo JEOOHIIIb ... JTFOOST

B = BI rotopf+{U} >  TOTOBIIO rOTOBUIID ... TOTOBAT

We'll see two more labial consonants (M and m) fairly soon.

? : Question: Why q(idn’t we see consonant mutation last lesson with nexxg+{U} and
cmotpg+{U}? Don’t these consonants mutate?

for ZKa-2Ka verbs, the final stem consonant ALREADY is mutated, and once
you mutate, you don’t feel like doing it again.

|
|
|
Answer: Not every consonant CAN mutate. The consonants p and it don’t mutate. As :
|
|
|

NON-MUTATING EXAMPLE:
CONSONANTS 2" CONJ., ALL OF PRES. TNS.

4 ropopi+{U}¢ >  roBOpIo (as well as TOBOPHIIL ... TOBOPAT)
- doesn’t mutate <
P cMotpg+{U} —=>  cMotpio (as well as cMOTPUIID ... CMOTPAT)

U - doesn’'t mutate crosi+{U} -2 crofo (as well as CTOAID ... CTOAT)

nexg+{U} 2> nexy (as well as JISKAD ... JEKAT)

X - already mutated " )
nepxg+ +{U} > nepxy (as well as népxxunisp ... aépiar)

Y - already mutated yajt+{U} > yuy (as well as yuuIip ... yuaT)

Listen and repeat. There are several new verbs, but they work exactly like similar verbs you

know:
x ’ r r ’ r ’ r
Example: noBU+ (catch) [ 5 06O, Wbl AO6ULD, OH TOGUNL, Mbl JIOSUM, 6bl JIOSUME, OHIL OB
BUJIE+ [] 51 BUICY, Mbl BUOUULL, OH GUOUM, Mbl BUOUM, Bbl BUOUME, OHIL 6UOLM
r X . . X . I4
1. rotdBu+ 2. napu+ (give a giff) 3. monydu+ (receive) 4. Buge+
5. obumet+ (offend) 6. HeHaBune+ (hate) 7. Tpabdu+ (rob) 8. kpmua+ (yell)
X I3 r r
9. Boau+ (lead) 10. octaBu+ (leave) 11. mépu+ measure 12. 3BOoHU+ (phone)

H doesn’t mutate!

I ——
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Grammar Lesson 19

@ Chameleon:

I4 o , 4 X ’ , ’ ’ ’ ’
Example: Yro ... xénaii+ (Mama, ondt, kypu+) [ Ymo dénaem Mdwa?, Ymo oni dénarom?, Onii kypam.

Start with ror0Bu+ 0061

1. om 2. 4 3. MBI 4. rnaau+ OproKu 5. Manma

6. TBI 7. OHH 8. npli+’ BUHO 9, s 10. MBI

11. BEI 12. Téna 13. TBI 14. cuné+ wa quBane 15. Hina

16. a1 17. MBI 18. BCE BUIE+ 19. onnt 20. s

21. TBI 22. cTod+ HA 23. Ons 24. a1 25. TBI
OakOHE

26. oHH 27. yuit+ pycckuii 28. 51 29. BHI 30. mo4 cecTpa
SI3BIK

19.B  The Infinitive
paboTath; cuaéTh; roTOBUTL

19.B.1 Forming the Infinitive

The most common Infinitive ending is -Tb.

This ending, along with the Past Tense endings (-1, -J1a, -J10, -J1), begin in a consonant, so let’s see how to add a
consonant ending to a verb stem:

Taking what we’ve seen with the Present Tense, where V+C combines harmoniously, while VAV causes havoc,
we can now make a more general statement about attaching endings to stem:

Opposites Attract (and combine harmoniously), Likes Repel (Ieading to truncation — and possible mutation)

OPPOSITES ATTRACT: C+V, V+C LIKES REPEL: ¥+V, €+C
(and combine peacefully) (leading to truncation — and possibly mutation)

Vowel endings (e.g., nouns and adjective endings, Present Tense verb endings)

gpraii+{U}T dHTaIOT xup+{U}T KHUBYT cuag +{U} CHDKY
oprok+{l} Oproku OankoH+{E}  OamkOHe o6+ {U} TFOGIIO
Hamr+{A} HAIla Baur{O} BaIIe aexg +{l}r JEKUT
nenrB+{|}#1  JewuBBIA  cpéaHt+{A}a  cpémuss yajt+{A}T yuar

Consonant endings (e.g., Infinitive ending —mo. We'll discuss the Past Tense shortly)

TOBOpPH+ Th ~ TOBOPUTH MOHUMA+ Th MOHUMATH
CUIIE+ Th CUJIETH YUTAH+ Th YUTATH
JEeKA+ Th JSKATD JKUB+ Th JKUTh
KypﬁJr Th KYPUTE (no stress shift in the Infinitive)
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19- ypok FpammaTuka

i Question: What about the Infinitive for ua+" go ? Is it ute? How about meii+"? What
could the Infinitive of that verb be?

|

|

|

. Answer: You know, you ask a lot of questions. No, the Infinitive of the stem ua+ is not
é uTh, but that’s a good guess, it’s uartu. (Don’t ask; just memorize it for now).
i The Infinitive of verb types like mbii+" and moii+” are also forms we don’t

: expect. We won’t tell you what they are right now. We’ll keep you in

i suspense until the next lesson.

19.B.3 Uses of the Infinitive

Infinitives are normally translated as to falk, to understand, etc., and generally appear in the same environment as
they would in English:

S M0G0 eMOTPETH TENEeBU30P. 1 like to watch TV.

Hamo 3anuMaTbes. (You) have to study / (You) must study*

*Note that when the word must is used, you lose the fo in English: You must study. This isn’t an issue in Russian,
where the Infinitive is a single word.

@ Form an Infinitive as in the example

Example: ypraiit [ A wobmo vumdame
1. rToBopn+ 2. CMOTpS+ TeIeBH30p 3. TOTOBH+ 4. Tnamu+ OproKu
5. cua+ (sleep) 6. yui- pycckue cioBd 7. paGoTaii+ 8. nménaitr momamnee
3a/1AHIE
9. nexa+ Ha JUBAHE 10. crosi+ 11. xypi+ 12. urpaii+ (play)
13. uuraii+ 14. nerait+ (fly) 15. ryusii+ (stroll) 16. caynraii+ paauo
@ Chameleon (Keep the Present Tense of nto6m+ as a constant):
Example: Mamnra JJF00HUT YUTATE (TOTOBH+, A1) ] Mawa mobum zomosums; A 10610 comosunio
Start with: Mimma JIOOHT KypAThb.
1. = 2. BBI 3. pénar+ gomanrkgee 4. MBI
3aIaHNE
5. Baus 6. Mou OpaThs 7. Taaau+ OprOKH 8§ 1
9. wmou c€cTpsl 10. cMOTpE + TeICBH30p 11. on 12. 1
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Lesson 19 — lomallHee 3agaHue

25 Exercise 1

Fill in this verb table:

BUE+

X
JIFO0U +

roTOBU+

X
JepKa+

Infin.

ThbI

Kéusa

MbI

BBI

r

OHH

2< Exercise 2 Fillin this verb table:

nymaii+

IUTBIB+

HOMHU+

X
JOBHU +

Infin.

ThI

Kéuns

MbI

BBl
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19-1 ypok DomallHee 3agaHue

g Exercise 3 List 3 things you like or don'’t like to do. Then list 3 things that a sibling or parent
likes or doesn't like to do. Do not use the verbs drink, sing, dance — they each
have a nasty infinitive form.

Example: S m006TF0 TOBOPHTH MO-PYCCKU.
Moii Maammuii 6paT He TFOOUT 3aHUMATHCS.

19-9



